46[0] (20254F ) JSCAHYE 7 7 v 7 K /KBS KIKBEH RS 1/3
28 ARTA 7 U —7 (50m)
HIH : 2025645 H3H (+)~5H4H (H)
No.2 BF 4x50m 21)—1) L— A LL—R R sss 2:0070
R AL -VU4.
L 10T >
F—L4 K% =
1 £48S SY-H 2/ 4 2:13.59
33.35 1:07.18 1:40.54
1 &H /N5 (0.71) 33.35
2 KM & /N5 (0. 26) 33.83
3 MR UEFH /N5 (0. 32) 33. 36
4 [HIEg —RR /M (+0.21) 33.05
2 4FESC 1/ 4 2:15.43
32.73 1:05.26 1:40.48
1 A% #®Hp /N5 (0.69) 32.73
2 HFH JFEK /N5 (0. 25) 32.53
3 Mg T /N (+0.13) 35. 22
4 LB /N (+0. 64) 34. 95
3 B 1 GHE 2/ 7 2:16.21
31.50 1:04.68 1:38.85
1 N EH A (0.72) 31.50
2 BH Bl /NG (0. 47) 33.18
R N N /N5 (+0. 58) 34.17
4 T FEE /N5 (0. 64) 37. 36
4 RS C 2/ 6 2:17.00
32.77 1:06.63 1:40.33
1 BIE 4 /N5 (0.68) 32. 77
2 Tl #h /NG (0. 29) 33. 86
3 @k ThrE /(0. 41) 33. 70
4 fE)Il Rk /N3 (0. 86) 36. 67
5 N7z v 2/ 5 2:17.42
33.26 1:07.66 1:43.31
1 A% FHE /N5 (0.77) 33. 26
2 BQ fe /N5 (+0.76) 34. 40
3 Ak BEK /N5 (0. 60) 35. 65
4 #afE 1Kk (0. 24) 34. 11
6 £ERS SAH 2/ 2 2:18.21
32.47 1:05.39 1:42.17
1 AH Eit /N5 (0.66) 32.47
2 Zin B /N5 (0. 53) 32.92
3 = /N4 (+0. 28) 36. 78
4 FKiE * /M (+0. 56) 36. 04
7 KLERH 2/ 1 2:19.81
31.33 1:08.25 1:43.55
1 Sk BE /N5 (0.64) 31.33
2 # 5 /N5 (+0.37) 36. 92
3 K K /N5 (+0. 05) 35. 30
4 B AKX /M (0. 25) 36. 26
8 AP 1/3 2:19.82
32.25 1:05.50 1:43.11
1 /Ibk P /N5 (0.66) 32.25
2 HH EE /N (+0.51) 33.25
3 KHE  HR /M (+0.59) 37.61
4 thH PRk /N3 (+0. 68) 36. 71
9 KLWEHEHH 1/ 6 2:20.64
33.04 1:07.92 1:43.56
1 M TEEE /N5 (0.70) 33. 04
2 fEm it /N5 (+0. 56) 34. 88
3 HHE BA /N5 (0. 62) 35. 64
4 8K 4 /M (+0.63) 37.08
H7JAEE: 5H3H 9:56



46[0] (20254F ) JSCAHYE 7 7 v 7 K /KBS KIKBEH RS 2/3
S8 HRTA > 7 ) —7 (50m)
HIH : 2025645 H3H (+)~5H4H (H)
No.2 BF 4x50m 21)—1) L— A LL—R R s 2:0470
= AL -VU4.
L 10T >
F—L4% K% =
10 FERS S 1/ 5 2:21.28
33.67 1:07.79 1:42.11
1 &iE EA /AN (0.83) 33.67
2 THH fn /N (+0.66) 34.12
3 B Rt (0. 22) 34. 32
4 B /N3 (+0.31) 39. 17
11 v AZH 1/ 2 2:23.84
32.09 1:09.15 1:47.04
1 & i /N5 ( 0.65) 32.09
2 SEH Bk /N3 (0. 36) 37. 06
3 KA WRIK /N3 (0. 40) 37.89
4 BmE OBK /NG (+0. 49) 36. 80
No.2 BF 4x50m 21)—1) L— B A LL— R smg 1523
E S0L.
L 11 -12% >
F—L4 K% =
1 FFnsip & 3/ 2 1:54.96
29.73 56.22 1:27.35
1 FHEEEA /N6 (0.64) 29.73
2 AR WIEE 1 (+0.07) 26. 49
3 ol A /N6 (0. 47) 31.13
4 FHE K il (+0.28) 27.61
2 S SCPIR 3/ 5 1:55.37
27.67 57.15 1:27.60
1 %5 iEp| 1 (0.70) 27.67
2 WAL Bl 1 (+0.26) 29. 48
3 M EE /N6 (+0. 24) 30. 45
4 IEBRK— il (+0.50) 27.77
3 4HESC 3/ 3 1:58.36
28. 49 56.57 1:26.30
1 &HE e 1 (0.7 28. 49
2 HE HE /N6 (+0.51) 28.08
3 TR HENE /N6 (+0. 45) 29.73
4 kp & /N6 (+0.23) 32. 06
4 S SHIL 3/ 4 1:59.79
27.70 57.72 1:29.26
1 SEH R 1 (0.65) 27.70
2 AR P<3 /N6 (+0. 26) 30. 02
3 TEAF sk /N6 (+0.21) 31.54
4 BA)IMEA /N6 (0. 22) 30. 53
5 LkfkSS 3/ 6 2:00.41
29. 67 58.40 1:29.48
1w S Ml ( 0.83) 29. 67
2 mfk B 1 (+0.41) 28.73
3 A Ik Hrl (+0. 19) 31.08
4 JRH MK 1 (+0.21) 30. 93
6 KLFZEHIH 3/ 8 2:01.33
28. 28 58.46 1:29.56
1 8k 2= /N6 (0.71) 28. 28
2 WEF ER 1 (+0.29) 30. 18
3 A FEn—m 1 (+0.37) 31. 10
4 HEETHR /N6 (+0.31) 31. 77
H7JAEE: 5H3H 9:56



546[0] (20254 5) TSCARTHE 7 1 v 7 AR HRIKBEE R & 3/3
285 AT A 27 U —F (50m)
HIH : 2025645 H3H (+)~5H4H (H)
No.2 BF 4x50m 71—1 L— B A LL—RiRE sm 1200
= AL -0L.
L 11 -128 >
F—L4 K% =
7T A4S S 3/ 7 2:01.49
29. 59 58.93 1:29.86
1 E&IH— /N6 (0.57) 29. 59
2 il ZeE /N6 (+0.33) 29. 34
3 B 15K /N6 (+0.28) 30. 93
4 KEEER /N6 (+0. 39) 31.63
8 KLWEHEHIH 3/ 0 2:01.55
28. 04 59.64 1:30.48
1 /NE R /N6 (1 0.75) 28.04 -T0C
2 bR K /N6 (+0. 16) 31. 60
3 @R W Ml (+0. 47) 30. 84
4 WE Kk /N6 (+0.51) 31.07
9 L6 - 3 2/ 3 2:10.12
30.72 1:03.66 1:37.24
1 Hs —BR /N6 (0.70) 30. 72
2 HN IR /N6 (+0. 56) 32.94
3 E&H OEX NG (+0. 33) 33.58
4 MR EE /N6 (+0. 34) 32.88
10 7NV E 3/ 9 2:12.05
31.21 1:04.82 1:37.32
1 B &) /N6 (0.64) 31.21
2 ERE B /N6 (+0.38) 33.61
3 IR F#/E /NG (0. 27) 32. 50
4 AR FHRE /N6 (+0. 28) 34.73
11 [ S C 1/ 7 2:20.08
28.76 1:03.43 1:40.91
1 &R i1 (0.67) 28. 76
2 AR AL il (+0.48) 34. 67
3 g BE /N6 (+0.81) 37. 48
4 PFEHEIEK /N6 (+0. 64) 39. 17
e I3 BE 3R SCFE 3/ 1 ZiE
H7JAEE: 5H3H 9:56



